O D& & = Al AN & B LE 8RR

¥4

Z B K @ M

=R A% 247,000
=Y ] J=F:: 211,000
K™ B4 210,000
=0T J=F:: 203,000
e B4 199,000
e B4 190,000
Zrhth R4 181,100
&l J=F:: 175,200
BEEN J=F:: 164,500
C PN A% 162,000
It R4 160,000
YEERTH J=F:: 160,000
LWhE A% 155,000
AB K J=F:: 155,000
wirh B4 154,800
TEJITH A4 145,000
#BLLTH A% 144,500
2h J=F:: 137,700
TR A% 134,000
Kot B4 133,500
= 0] =k 131,000
EIR™ A% 130,000
fRtE™ A% 128,000
BEm A% 128,000
BRI EETH A% 127,000
BEHM A% 125,100
BRE™ =k 124,000
R B4 121,000
RIFE™ A% 120,000
B[ Th A% 119,800
FH#=ET =k 117,000
E =k 116,000
Iz BB 77 =k 107,900
=10 A% 106,000

i=hi7] =k 97,000
N A% 95,400
SHMH A% 73,200
[ I A% 63,100
KiEM =k 28,000
=T =k 19,700
pam | B8 s

[BHEZAX]
£ 8 #®

=y J=F ] 198,000
e B % 170,000
e B % 161,000
= &N J=F: 160,000
Erhh A% 151,200
=R A% 150,000
BMEEM J=F: 147,500
falum J=F: 144,600
RABR™ =k 137,000
AR A% 137,000
YRR TH =k 134,000
ABAKTh B % 133,000
Kot B4 127,900
WhEmh A% 120,000
EHM J=F <] 117,100
TE™ A% 115,000
mium B4 114,000
ftE™ =k 111,000
BJITH R4 110,000
EIR™ A% 110,000
LU A% 108,500
BKEETH A% 104,000
FHE™ A4 102,500
K™ A% 102,000
BERE™ A% 101,000
K™ A% 101,000
E U™ =k 99,000
BEm A% 99,000
HItE™ A% 98,000
B[ A% 94,800
Iz B2 7 =k 94,300
izl =k 86,500
= JzF] 82,100
NI A% 79,800
=Y Hn =k 74,000
2l B4 71,700
SHMH A% 59,300
[ 15 A& 57,000
KiEM B%E 23,500
=X /N7l B%E 16,400
BET | dg 10000




O D& & = Al AN & B LE 8RR

[REEEZTRX]
Z B8 K #@m B % B8 & M

BiA A i s BA A I HiBe
e J=F: 142,000 BT =k 82,000
FAEh A% 132,000 ®iRm B4 80,000
JEERTH A 122,000 [E&tH J=F ] 71,000
Il A%8 100,000 mAEm A%a 71,000
=R A% 95,000 =AM A% 70,000
RABR™ =k 95,000 &M =k 70,000
=y 0 =k 92,000 Brhh =k 69,100
EIR™ A% 90,000 HEEM A% 68,500
=£- 7] R%E 87,000 i A% 68,000
RE™ R4 83,000 = IH B4 66,000
E L =k 82,500 =BT J=F ] 66,000
BEEM J=F ] 82,000 EREH J=F: 63,000
ERE™ J=F-] 80,000 =B J=F 61,000
BEHM J=F ] 76,300 EHHH J=F: 57,400
Brhh A% 75,700 FEETH =k 57,000
FHE™ =k 73,500 RIGH =k 55,400
Kot A% 73,000 y=F-_'&i7] =k 55,000
REE A% 72,200 Ko A% 54,100
RIFE™ J=F ] 72,000 Bl J=F ] 53,500
R A% 71,600 BREETH =k 52,000
TEJITH R% 71,000 WbhETh B4 52,000
WhE A% 68,000 BIETH A% 51,000
EEET A% 67,000 =% =k 50,000
fRtE™ J=F ] 66,000 =0 J=F] 49,500
#BLLTH A% 65,000 W B4 49,000
fBIlum™ =k ] 62,100 TG =k 48,000
fath A 61,000 fRFETH J=F 48,000
=] =k 59,000 ABHh B 48,000
=& =k ] 58,500 =G J=F ] 45,000
TR A% 57,000 TR A% 45,000
NI =k ] 55,900 ghiEm J=F ] 44,900
AR K A% 55,000 Wi B%E 44,400
=10 J=F] 54,100 @™ J=F 42,800
e il B4 53,900 = 5t B%8 39,600
JI#EH A% 44,700 4::h1] A% 35,400
SHh B4 43,200 JI#sTH J=F: 34,400
[ 5 T A%a 34,200 [T th A%8 33,100
Iz B A% 26,700 I B A% 23,500
WES | G a0 mES | A o0
Y= 4] B4 28,000 KiEMh =F] 23,500
=X /NG H%E 19,700 St H%E 16,400




O D& & = Al AN & B LE 8RR

[AEFRER]
Z B8 K #@m B % B8 & M

PV ¥ i i P ¥ I A
Il A% 160,000 gLt R%E 137,000
YRR TH =k 124,000 1B TH J=F ] 89,000
= 0] =k 92,000 =BT J=F ] 66,000
=R A% 82,000 = A% 64,000
fEW T A% 76,000 ERET A% 63,000
YN B4 74,000 =B J=F ] 56,000
ERE™ =k 71,000 NETH J=F ] 55,000
fntE™ =k 66,000 AEm =k 54,000
RIG™ =k 61,700 ] =k 51,000
FAEh A% 60,000 HARRTH =k 50,000
BREETH J=F: 58,000 RIG™ J=F:: 49,900
TR A% 57,000 =i A% 49,500
EEM J=F ] 56,000 &R J=F ] 48,000
=31k =k 55,500 ABBHTH J=F ] 48,000
ABKh A% 55,000 TR A% 45,000
WhEm A% 52,000 LWhEmh A% 42,000
BEm J=F ] 49,000 =Ll J=F: 42,000
&R A% 48,000 BREET B4 40,000
FHE™ =k 44,000 FEETH J=F ] 39,000
NG A% 36,800 NI A% 34,700
=] =k 36,000 =N J=F ] 30,000
Z1E™h A% 32,000 ZiEhH J=F ] 27,000
fBIlum™ =k ] 30,600 =I5 J=F ] 25,600
= g J=F <] 30,400 Bl J=F ] 25,000
[ 5 v A% 24,100 [ L& th A% 23,000
Ik B A% 22,700 I B th A% 18,800
= A% 17,000 =T J=F 17,000
Y= 41 1] H%8 28,000 KiEmh H%E 23,500
=% /NG H%E 19,700 =% /NGl H%E 16,400
e =k 15,000 eI H%E 12,000
E&HtH =E] 13,600 2461 =F] 11,600
Kot A48 12,700 REHH B%8 11,000
BEEHh =] 12,700 KXot A%E 10,000
HIFE™ =k 9,600 SH™H =k 9,600
S Hh H%E 9,600 BB H%E 8,700
#BLLTH B4 8,100 LT B%E 8,100
wEd | R 1000 wEd | A 1000
JI# T FEE 81,900 NIt FEE 66,800
FH™ — FFHm™ —
izl — izl —
Erhth — 2t —




O D& & = Al AN & B LE 8RR

[BEEESR]
i R & & e BB E B RN

AEm J=F:: 249,000 EREH A%E 95,000
=R A& 247,000 BiEH A% 85,800
=I5 TH A% 243,000 RI&GTH A%E 85,000
-] A% 224,500 £R™ A% 80,000
=337 R4 210,000 mEm R 80,000
EIRE™ A%a 187,000 I B A% 72,100
mim A% 182,700 LhET A% 68,000
=il B# 181,100 ABKh A% 67,000
=] =k 174,000 B B% 66,000
fBJITH A% 165,000 y=E2@7] A% 64,000
[El&™ B4 161,000 HMEEM A% 63,500
PN A& 160,000 g A% 63,000
Ehth R4 159,600 fE W& A% 63,000
HEE&TH J=F ] 156,000 =X A% 62,000
A kKT A% 155,000 BT A% 62,000
SHEh A% 154,000 ath A% 61,000
eIl A%a 154,000 g 2] A% 61,000
EREE T A% 147,000 A A% 60,000
] J=F: 145,500 T A% 59,300
fEllm B%E 144,600 FEE™ A%E 57,500
=T J=F ] 141,900 fBJIT =k 57,000
AIfE™ A% 140,000 B A% 56,000
LWhEM A% 139,000 It B4 55,000
FEE™ B#E 139,000 p il A4 55,000
=10 =k 131,900 =t il B4 53,700
wamh A% 130,000 =ihH A% 50,000
Rath J=F- 129,500 BAETH A% 48,000
fotE™ B4 128,000 =10 B4 47,800
=L 4] B4 128,000 =gt J=F 47,000
FiE] W5 T A% 126,400 A =k 46,700
&R R4 120,000 TEA™h B#E 46,000
RE[ETh R%E 117,400 2l J=F-] 45,800
ELh =k 115,500 =A™ B % 45,700
R IG™ =k 113,000 HARRT J=F 44,000
ot adnt] A% 111,000 =% Th B%E 42,000
At A%8 110,000 NI J=F- 40,700
I B A% 109,500 RIET™H B%E 38,500
TRE™h A% 100,000 Rl B%E 37,200
MG B4 94,600 FMET™H E.E:E %:888
wEm | 5 o000 X#® | oa
KiE™ H%E 28,000 =% /N ] =k 16,400




O D& & = Al AN & B LE 8RR

¢ EL-J-E)

= Kk & M gl = & #m B Z 8 #om B
BT A%s 124,000 St 2] A%E 79,000 =I5 TH A% 66,000
fR¥Emh A%E 100,000 IS TH %8 74,000 BERE™ J=F- 64,000
KE™ B4 100,000 ERET |As# 71,000 e B4 63,000
=% A%E 99,500 BiiE™H %8 70,000 R¥hH J=F- 63,000
BERE™ A% 95,000 LWhETh A%E 68,000 Kot A% 60,700
LhEmh =k 93,000 = B 65,700 HIFE™ A% 59,000
=y =k 92,000 Lt B 64,000 At A% 58,500
FHEET =k 90,000 BT B 63,000 FHE= B4 56,000
Auth A%E 83,000 fath A%E 63,000 LvhEmh A% 55,000
N A% 83,000 y 2 il =F:: 60,700 mEh A% 53,000
=21l B 77,900 Fiy=Ai] =k 60,000 =I5 =k 50,700
% A%E 77,200 ;=T | AE 59,000 =X A% 50,000
Ko B4 74,900 = hl =k 59,000 RI&™H =k 49,900
=% 3hs A%E 74,300 =T J=F ] 58,000 LT J=F 49,000
=SHh A% 73,000 B AMRT =F=] 56,000 & il =F=] 48,000
B[ T A% 72,200 AB)ITH A% 55,000 = il R4 46,000
FFrLTh A% 71,000 =Bt B 54,000 43Rt B%a 46,000
¥t A% 70,000 €R™T A% 53,000 =Bt A% 45,000
=Rt J=F - 69,000 It J=F- 53,000 BE#mh B%E 45,000
sz BB 7 R4 68,100 JI#ETH R4 51,900 fallh R 44,800
MEJITH B4 66,000 BiEmHh A% 50,500 E DN A% 44,000
R IG™ B% 65,600 L2 4i] B 49,000 k% TH B4 42,800
e R4 65,000 falum R 48,900 RE[ETh R 42,800
€Rm A% 63,000 NG A% 48,200 IE=hi A% 42,000
25 A%s 60,900 e A% 46,400 NG A% 41,500
NI =k 59,200 =T J=F ] 44,900 Iz B2 7 J=F ] 41,500
BREETH A% 58,000 fEWE T RA#E 43,000 kW A% 41,000
=X /NG A% 57,500 EIH A% 42,000 EEETH A% 40,000
BEEmH =k 56,000 I BB/ J=F ] 41,500 =T J=F <] 40,000
AB¥xth |AE 55,000 HWEE™ |A#E 32,000 2iE™H B 38,900
fallh A%E 53,500 Fala =E: 31,500 BJITH J=F- 34,000
Eomh A% 53,200 AT E gg ?31888 Eh A% 33,500
ELuH A%E 50,000 BT F4E 566,000 TE™h B 33,000
B th A% 45,000 KiEmh H%E 25,800 EHth A% 31,600
TR A% 45,000 HHH A% — 2ot A% 30,600
WEEH A% 43,500 BREETH B#E - MEE™ B 29,500
ZHmH A%E 38,300 ZHmH J=F: - ] U Th B 27,600
A 125 T B4 34,500 Ril&m =k - =37 B%8 26,300
HET |5 000 i : mET |5 000
IEERTH F48 667,000 TR B4 - HE R T 48 490,000
KiET k] 28,000 AB Xt B% - KiETH H%8 23,500




